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Indmningsuppgift 1

Ad

1.a) 1984 till bindrt

198410 mod2=0
198419/2 =992

9921() mod2=0
9920/ 2 =496

496, mod 2 =0
4961() /2= 24810

24810 mod2=0
24810/ 2 =124y

12410 mod2=0
124190/2 =629

621omod2 =0
6210/2 =31

311() mod?2 =1
3110/2 = 1510

151() mod?2=1
15 1o/ 2 =T

71() mod2=1
Tio/2=319

31()1’110(12:1
310/ 2=1y9

110m0d2=1
210/2=0y9

Svar: 11111000000,

Inl. Uppg
2007-09-03

1(6)



HENRIK BACK
850611-6253
Civiling. IT

1.b) 4000, till binér

400010 mod 2 =0
40001 / 2 =200010

2000190 mod 2 =0
200010 /2 =100019

100010 mod 2 =0
100019 /2 =500

5001() mod2=0
50019/ 2 =250y

250;0mod 2 =0
25010/ 2 = 12519

1251() mod2=1
12510/ 2 =629

12410 mod2=0
12440/2 =319

311() mod2=1
3110/2 = 1510

151() mod2=1
1510/ 2="T0

71() mod2=1
Tio/2=319

31()1’110(12:1
310/ 2=1y9

110m0d2=1
Lio/2=019

Svar: 111110100000,
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1.c) 8192 till binért

819210 mod2=0
819219 /2 =5096,

4092 jomod 2 =0
409210/ 2 =2048,

20481() mod2=0
204819 /2 =1024

1024;pmod 2 =0
102410/ 2 =51249

51210 mod2=0
51219/ 2 =256y

25610 mod2=0
25610/ 2 =128

12810 mod2=0
1289/ 2 =64

641() mod2=0
6410/ 2 =32

321pomod2 =0
3110 /2 =164

161() mod2=0
16 10/ 2= 810

81() mod2=0
810/2 =49

41() mod2=0
4i0/2="2y9

210m0d2=0
210/ 2=1y9

110m0d2=1
Lio/210=0

Svar: 10000000000000,

Inl. Uppg
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2.a) 1001101001 =1+ 8 +32+ 64 + 512 =617

b) 00100110 1001 = 2696
2 6 9

3) Giltiga hexadecimaltalsnotationer: BED, CAB, DEAD, DECADE, ACCEDED, DAD

BEDs = 11-16" +14-16' +13-16" =3501,,

CABjs =12-16* +10-16' +11-16° =3243,,

DEAD;s=13-16> +14-16> +10-16' +16-16" = 57005,

DECADE = 13-16" +14-16* +12-16* +10-16* +13-16' +14-16" =14600926,,
ACCEDED;s=10-16° +12-16° +12-16* +14-16° +13-16” +14-16' +13-16° =181202413,,
DAD;s=13-16 +10-16' +13-16" = 3501,
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B.5S

1.

Inl. Uppg
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X y z
1 1 0
0 1 1
1 0 1
0 0 0

2. (x/\;)v(;w\y)

3.

X
y :

4. (xv y)z&/\}
X y (xvy) ;C/\;
0 0 1 1
0 1 0 0
1 0 0 0
1 1 0 0

(XAY)=xVy

X y (xAYy) ;cv;
0 0 1 1
0 1 1 1
1 0 1 1
1 1 0 0

V.SV
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